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BACHELOR'S PREPARATORY PROGRAMME 
(B.P.P.) 

Term-End Examination 
	16737 

December, 2013 

PC0-01 : PREPARATORY COURSE IN 
COMMERCE 

Time : 2 hours 	 Maximum Marks : 50 

Note : 	Attempt all the questions. Each question carries one mark. 

1. The concept of conservatism implies 
(a) Understatement of profit 	(b) Understatement of assets 
(c) Overstatement of liabilities 	(d) Prudence in measuring income 

2. Which of the following is correct ? 
(a) Assets + Liabilities = Capital 	(b) Assets 	Liabilities = Capital 
(c) Assets + Capital = Liabilities 	(d) Assets ÷ Liabilities = Capital 

3. Buying and selling activity is called : 
(a) Industry 	 (b) Trade 
(c) Commerce 	 (d) Business 

4. Sales book is meant for recording : 
(a) All sales 	 (b) 	All types of credit sales 
(c) Credit sales of merchandise only (d) 	Cash sales 

5. Purchase of furniture for cash should be debited to : 
(a) Furniture A/C 
	

(b) Goods A/C 
(c) Capital A/C 
	

(d) Cash A/C 

6. Goods sold to Aman on cash basis will be credited to : 
(a) Aman A/C 
	

(b) Sales A/C 
(c) Cash A/C 
	

(d) Capital A/C 

7. Returns Inwards book is kept to record : 
(a) Credit sales of goods 	(b) Credit purchase of goods 
(c) Returns of goods sold 	(d) Return of goods purchased 
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8. Rent outstanding account is : 
(a) Real A/C 
	

(b) Nominal A/C 
(c) Personal A/C 
	

(d) Representative personal A/C 

9. Rs. 5000 paid as rent to Landlord should be credited to : 
(a) Cash A/C 	 (b) Rent A/C 
(c) Landlord A/C 	 (d) Repair A/C 

10. Debit balance of suspense A/C will be shown on : 
(a) The debit side of trading A/C 	(b) The Assets side of balance sheet 
(c) The Liabilities side of balance sheet 	(d) The credit side of trading A/C 

11. Prepaid expenses is treated as : 
(a) A loss 
(c) 	A liability 

12. Interest received is credited to : 
(a) Cash A/C 
(c) Manufacturing A/C 

(b) A gain 
(d) An Asset 

(b) Interest A/C 
(d) Trading A/C 

13. Bad-debts will be charged to : 
(a) Trading A/C 
(b) Profit and loss appropriation A/C 
(c) Profit and loss A/C 
(d) Capital A/C 

14. Profit on sale of an asset will be normally shown on : 
(a) The debit side of trading A/C 
(b) The credit side of trading A/C 
(c) The credit side of profit and loss A/C 
(d) The debit side of profit and loss A/C 

15. Which of the following is not a current liability ? 
(a) Bank loan taken for more than one year 
(b) Bills payable 
(c) Outstanding expenses 
(d) Creditors 

16. Goodwill is : 
(a) A tangible asset 
	

(b) A current asset 
(c) A fictitious asset 
	

(d) An intangible asset 

17. All indirect expenses are shown in : 
(a) Trading A/C 
(b) Profit and loss A/C 
(c) Profit and loss appropriation A/C 
(d) Manufacturing A/C 
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18. Manufacturing account is prepared to find out : 
(a) Gross profit 
(b) Gross loss 
(c) Cost of goods produced 
(d) Profit on sale of manufactured goods. 

19. Bank Reconciliation statement is made by the : 
(a) Bank 
	

(b) Creditors 
(c) Auditor 
	 (d) Customer of the bank 

20. Commission received account has : 
(a) A credit balance 
(b) A debit balance 
(c) No balance 
(d) Any type of balance, debits or credit 

21. Sales Returns journal is also called : 
(a) Purchases journal 
(b) Sales journal 
(c) Returns outwards journal 
(d) Returns inwards journal 

22. Rent paid in advance given in Trial balance will be shown in : 
(a) Assets side of balance sheet 
(b) Liabilities side of balance sheet 
(c) Trading A/C 
(d) Manufacturing A/C 

23. Trading account is prepared to find out : 
(a) Gross loss \ Gross profit 	(b) Net profit \ Net loss 
(c) Cost of goods produced 	(d) Capital 

24. Depreciation on building is charged to : 
(a) Trading A/C 
(b) Profit and loss A/C 
(c) Manufacturing A/C 
(d) Profit and loss appropriation A/C 

25. Contingent liability is shown : 
(a) In trading A/C 
(b) In profit and loss A/C 
(c) In balance sheet 
(d) Outside the balance sheet as a foot note 
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26. Which of the following is a current asset ? 
(a) Building 	 (b) Furniture 
(c) Prepaid expenses 	 (d) Plant 

27. 'Salaries and wages' are shown as the : 
(a) Debit side of profit and loss A/C 
(b) Debit side of trading A/C 
(c) Credit side of profit and loss A/C 
(d) Credit side of trading A/C 

28. Bank overdraft is a : 
(a) Current asset 
	

(b) Current liability 
(c) Fixed asset 
	

(d) Long-term liability 

29. Nominal accounts relate to : 
(a) Expenses and losses only 
(b) Incomes and gains only 
(c) Assets only 
(d) Incomes, gains, expenses and losses 

30. Gross profit is equal to 
(a) Net sales — cost of goods sold 
(b) Net sales + cost of goods sold 
(c) Opening stock + purchases — closing stock 
(d) Opening stock + purchases 

31. Expenditure giving benefits for more than one year is called : 
(a) Revenue expenditure 	(b) Capital expenditure 
(c) Revenue loss 	 (d) Capital loss 

32. Donation received for a 'specific purpose' is a : 
(a) Capital expenditure 	 (b) Capital receipts 
(c) Revenue expenditure 	(d) Revenue receipts 

33. Income tax is a : 
(a) Current asset 
(c) Current liability 

34. Sales tax collected is a : 
(a) Fixed liability 
(c) Current asset 

35. Loan account is a : 
(a) Real A/C 
(c) Real as well as nominal A/C 

(b) Fixed asset 
(d) Contingent liability 

(b) Current liability 
(d) Fixed asset 

(b) Nominal A/C 
(d) Personal A/C 
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36. Information given in adjustments will be shown in final accounts at : 
(a) Three places 	 (b) One place 
(c) Two places 	 (d) Four places 

37. Trade discount given to customers is recorded : 
(a) On debit side of cash book 	(b) On credit side of cash book 
(c) In journal 	 (d) No where in books of account 

38. Selling and distribution expenses are transferred to : 
(a) Manufacturing A/C 	 (b) Trading A/C 
(c) Profit and loss A/C 	 (d) Capital A/C 

39. A business has liabilities of Rs. 200,000 and owner's equity is Rs. 5,00,000. Its assets would 
be 
(a) 	Rs. 7,00,000 	 (b) 	Rs. 5,00,000 
(c) 	Rs. 4,00,000 	 (d) Rs. 3,00,000 

40. Journal proper records : 
(a) Purchases returns 
(b) Sales returns 
(c) Cash paid to creditors 
(d) The transactions which are not recorded in any of the special journal 

41. The balance of petty cash book is shown on the : 
(a) Debit side of profit and loss A/C 
(b) Debit side of trading A/C 
(c) Credit side of trading A/C 
(d) Assets side of balance sheet 

42. Rs. 10,000 paid as wages for erecting a plant should be debited to : 
(a) Plant A/C 	 (b) Wages A/C 
(c) Cash A/C 	 (d) Repair A/C 

43. Closing stock is valued at : 
(a) Cost price 
(b) Market price 
(c) Cost price or market price whichever is lower 
(d) Cost price or market price whichever is higher 

44. Which account is used for rectification of one sided errors ? 
(a) Suspense A/C 	 (b) Cash A/C 
(c) Trading A/C 	 (d) Profit and loss A/C 

45. Carriage outwards shown in trial balance will be recorded in : 
(a) Capital A/C 	 (b) Bank A/C 
(c) Profit and loss A/C 	 (d) Cash A/C 
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46. Current assets do not include : 
(a) Bills receivables 	 (b) Cash 
(c) Debtors 	 (d) Bank loan 

47. Cash given away as charity would be debited to : 
(a) Charity A/C 	 (b) Cash A/C 
(c) Purchases A/C 	 (d) Sales A/C 

48. A contra entry appears on both the sides of : 
(a) Purchases book 	 (b) Balance sheet 
(c) Cash book 	 (d) Pass book 

49. Bad debts recovered will be shown in : 
(a) Trading A/C 	 (b) Capital A/C 
(c) Profit and loss A/C 	 (d) Balance sheet 

50. Premium received on issue of shares is an example of : 
(a) Capital profit 	 (b) Revenue profit 
(c) 	Fictitious asset 	 (d) Tangible asset 
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i-N1 	1 

fit, 2013 

1-.4-.34.- 01 : (41 u ,i0.4 -41 y 	in ckti ch 

Trrrel : 2 ETri - 
	

31'T :50 

*a-  : ?raft WI 31ft-4W ff/ 	3T ch/ g`/ 

1. 	3.177q1kffT chl -Ichc-LI-if (conservatism concept) 14 1*d * : 

(a) -MIT 	k-U1T 	 (b) 	t4Li 7t4•  chf 

(c) tTI-dr4 	uNT 31-NTT -kur9-r 	(d) 3-1171"k 3i 14 -1IdNT91-  oltk-I11 

2. 	 A 09Ar 	t? 
(a) 	Lik4,11-1-tqf + tzrdr = 
(c) 	7111+ 	= tzr-dT 

3. 9bq f-a-wq 	 : 
(a) 3T 	 (b) 

4. fq-wzr .4-e -4 -Tg-r fwzrr ,ficir : 

(a) 	Trift 	 

(c)   zw-{ fqq 

(b) 46414rdqi — tzTO = 
(d) 	LI 	t44 7111 ÷ 

(c) 	 (d) 	oe-icm14 

(b) 	Tr41)- 	t i 3g1T7 fqWz4 

(d) 	'NT4 

5. 791-4T ichq 911g 	tr-qa f*-7;11   : 

(a) 1:097T t 	 (b) Hicr 
(c) 	 (d) -47 

6. ap:F 	THftf 	fwzrr 	 : 

(a) 31TR 	 (b) 	T oh 
(c) 	 (d) 
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(b) -477117§Fra 
(d)  

(b) 4--4P -ta 	4lhi4r7111 TR-T 
(d) 04114It A 	TR-111 

(c) 	 tzEdT (d)   111:iLir-c-1 

(b) 
(d) 

-ura 
we ch.).  

7. 31T-dT qicR# qt ft-Trg 	Ant : 
(a) 	1-11(1 	31T17 
(c)   TTY iito cf.C1 

8. -47711 -Uric T t 	 : 
(a) 	ciltdrolch 
(c) 	chi,  Id 13MT  

(b) 	4-11c1 	ZtTR 9411 4) 
(d) 9bq f-*-7 TTY 4-uo c qTr-Rt c4-4 

(b) 	31.111-014fl-ffT 
(d) 	oirchvici wr-d-r 

9. 	Tiff-0-T Hchh-i 	 t 5000 T. ail TrFT f *1 A141 	 : 
(a) 	 oh) 
(c) 	 wh1  

10.  	t trite iltf 	fq-UP=IT AR,t1 : 
(a) 041141t c 	eqa -W 14 
(c) 4--4t4 3 kqrdr -ERT 

11. 1:*U ccic4t 	Aldlt : 
(a) 	ictl  	(b) 

12. 	-5rrr 	 -4qr Aldr 	: 
(a) 	 ch1 
(c) 	rar-Hiur -a-A cr.)) 

13. 3'al 	 ch LI I f i TT ANHIr : 
(a) 	oql4R -Ufa 
(b) 	

- 

	rcir1g1\-11-1WT 4 
(c) 	 -

- 	

a-A -4 
(d) -utq a-A -4 

14. 	pct) (ARk-iLIFT-r 	fqwq -11-11-qctqf tUrzfr ARiir : 
(a) ogILIR TgA tfqa TR-T 
(b) air4rt t 
(c) 7R-T 
(d) tf-qa TR-T 

15. f-14-iforci -4 A cm cf.) -clic-0-qm le t? 
(a) A f --zrr 4iir 	coi A 3i-rw T  Trir 
(b)  
(c) oqq 

(d) 	 

16. 	t: 
(a) 	TO 4rtti4 rrl 

	
(b) 	v -) -in 4 tW-I 

(c) 	TfAli LIRk-ILl Fri 
	

(d) 	3111-4 4R41-1fri 

PC0-01 	 8 



17. 7111' 3TTIM-T ce4cf 'kT§117 sTtr• 	: 
(a) .61141k 	14 
(b) -tNT 14 
(c) rar-QA-1 k.gt 
(d) ci 144 	t_11 

18. rarigiur 	ct-ticti 	t : 
(a) t-ictIci 7F9T 	chk4 
(b) flchcl 	-1 71icf cr)k4k 
(c) d 4-110 cr.) 	1Nlcf 71ff cm4 
(d) 4-11(1 	fq-wzr ITT F (Ar 

19. ch (14-114R ffi—dTurf GI-11q1 	t : 
(a) 	4* gm (b) 
(c) 	311- -TW gi(f (d) *-1JTKW 

20. 317 ch 4-1 	Tic 	T 	t : 
(a) 1,:t) 	tsf 
(b) tr-qa 
(c)  
(d) trWE 3T4T • -f‘Z ch 

21. fq•--74•Mt11:11 	•••1' ct 	"411 cf.)1 t : 
(a) 94)41 

(b) fdT?:f 
(c) \3lIc1 
(d) 31T 

22. Mit-id -4 rq 	31frjg 	TR fwrR f<urqr : 
(a) 444 	4R44 	f 1:14T 

(b) 4-4Tf qtle. 	 T -11 
(c) (51 -  
(d) (_gi 

23. 02414It 1T1T e1-11q1•711c11 	: 
(a) 	flchrf 	7194 Ord ch'Ot- (b) 

(d) 
"FTI•F 7T`IT/f7-4 	>;1(-r cbt 

(c) 	 ritlicf tic 	..4*.  flikr Tff cm4 

24. 9T49 WE 1:1-FT 	fWzri Alc11 t : 
(a) c1141( -Ur.  
(b) (Ala 4 
(C)   Nitta 
(d)   rctr-143-1-11§fr 14 
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(b) 
(d) 

25. 	9R-iPich tl-UT ch) f- TPLT 	 t : 
(a) oqii-ut Ig-f 
(b)  
(c) tA:1 711-a 
(d) 'qfi-a 	 -) yiqrdu-Nil 	ty -14 

26. F-11-1Foro-T 	 -Frq 1, 	t-IR4yr-d ? 
(a) 	1-1-d,i 	 (b) 

27. 	'4"-d9 	cht TIFT 1 	I ,111c11 t: 
(a) -ER-T 
(b) 09198 	c 	a TN-  Ti 
(C) F-1 7§1-1 	im 
(d) -qv 

28. 	31)--4-q-19Z t 	 : 
(a) 	-ciict Hi-k41-4rci 
(c) PiTt 4R4yrti- 

	

(c) 1*-4 o 	(d) 7it 

(b) 	 tzidl 
(d) 	 kzEdf 

29. 3171-014 -{§rr4 -#-4Rm t : 
(a)  	vf-974 

	
(b) -k-4TT 3TRff 	 -r14 

(c) 
	

(d) 

30. 	 t : 
(a) f9-TO fait — 
(b) fM fir + 
(c) aiRfPITT 	 
(d) 311frat 

Hto c 
t!1-  TR HIM chl 	 

sbq —3 
9hq 

31. a 	Rig chl 	31-N-T a 	T71 
	cr.)ota t : 

(a) 	31711-14 c,q4 
	

(b) 1:01-1TU ciu 
(c) 31i Id 
	

(d) 	V-F-971-t 

32. fqr7FtZ 	-9-Rr 	1, : 
(a) ItTrd ogq 
(c) 31P717 (=WA 

33. 3TFE*7 	fq:r T 11-Tra-r9 3TH-14-zrr 
(a) 	lict Lirt4L1R1 
(c)   tztur 

34.E0 fwm Trzrr 	ch( t 	 : 
(a) P-ift tziff1 
(c) 

(b) -c41qtzEd1 
(d) TzTrzittrft#Erf- 
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35. 	Atui - 1FdT \Joh : 
(a) 	qt-c1rolch 75T-d1 
	

(b) 	3T171-0qq WffT 

(c) 	cm-ciRion 	37117-0'-14 
	

(d) 	ogrok-pici ITT 

36. 	iii-114l∎ 11 	 3f-d-rr (61 fq-Ur \TIR+11 : 
(a) 	cn-I T-2.TT-4 'TT 	 (b) 	1.) T-QTT9.717 

(c) 	T-grq 	 (d) .qTTT-2Tft ITT 

37. 1JWA 	t 4 	1i ClILIIRCh Oc,e- cril fed, rt fWziT Aid( t : 
(a) tr-*7 	kr--qa trkT 	 (b) 71-*7 	 w 
(c) 	•31 ci 	 (d) 	c(11,shqs114 -Wef 111 de 

38. "NT-4 c 	i fq-d7171 	3 	f*-711 	: 
(a) RIF-Hiur c 	 (b) ceitHR 
(c) 	 (d) 	t 	- 14 

39. 	-) ogathq cb1 tz:EdT t 2,00,000 T. 'ff 9-TT 	c411 	(1:L7) t 5,00,000 T I. 	4 “14 	c4 
kIPI 	1+11 : 
(a) 	7,00,000 T. 	 (b) 	5,00,000 T. 
(c) 	4,00,000 T. 	 (d) 3,00,000 T. 

40. 174 \314(4 fc*TA f*-7 Ala t : 
(a) 9hi 	 
(b) "NT-4 alt-Agi 
(c) (;-tql4 
(d) ,T1 0-fv.ich -t) 	 Aka 

41. 11- Tf t-*7qt 	-kurza Al(11 t: 
(a) tr-q-a 
(b) c'-4141t 	ttqa 
(c) °6114Ik 	 IJR-T14 
(d) ti-M'I=17fta 	4th44rriii try 

42. TffiZ 	cd4N Ai; 	4,,,,fq t 	-111t 10,000 T. trqac4 ,511-11 	 : 
(a) 711'Z -UA ch) 	 (b) 
(c) tf-* 	 (d) 11(4-1-id 

43. 	Taira r +rzlich-1 	 : 
(a) 0141c1 111. 717 
(b) 011:7111 Trf 71T 
(c) 014Icf Tri zrf GUAR 	511.  ch4 
(d) 0141c1Tri ?Tr 1̀# 31w 

44. 	1-) tr T i 	i#qreri 	f-*14 	 AM( t? 
(a) 31.d 1NTM 	 (b) 
(c) 	0411111( 	T 1T 	 (d)   (gicit 
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45. drilid 4 fqir r-pid -qr--9.  «41 (carriage outwards) f-c -T-t fa- ii ,1R+if : 
(a) 	tgICI 4 	 (b) 	Q.ch t.gt 4 
(c) 	7TIT-ir-i 	c li 	 (d) -T1W-illT g 

46. -ciirk yR4LIR-1,4 • 4 -q-rrfiT -ii -f-*-7 Ai : 
(a) 	31117-1" f4F 	 (b) 
(c) 	lq► t 	 (d) 	ch Atur 

47. "19" g t q t-*7 cI i 	krti---4a fiii ARM : 
(a) 	"Tff TNT" li 	 (b) 	1)--- 	01 
(c) 	9hi "TO g 	 (d) f-d----zi tgt1 g 

48. Wrci "51f-ditZ (contra entry) fq-TNI1 AA.  t ql 	-4 70 -4 : 
(a) shit GO 	 (b) t1-4U kl 	d t 
(c) 	-4--  ci'l t 	 (d) 'TM clet) "k 

49. "trO" f--*7 TR 1-4ff 7itur --1 Britt \TIR411 : 
(a) 	oip4R egia g 	 (b) ltsi 	 kgia -4 
(c) 7rIT-Ir-r tc g 	 (d) 4-4-(4 ile. g 

50. 7101' "k f941,17 "KTT "51171311" m 4-iqH dcltuf t : 
(a) 1:01Td MIT 	 (b) alTzfrIa" MIT " -"T 
(c) -OTT 14R44R-1 	 (d) TO Li 	(44 TT wr 
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